TR 28 FE HF2RERBE(NAZUITAR)
( 5 ™
(Chime)
Listening Comprehension Test

Directions

You are going to have a Listening Comprehension Test. This test consists
of Part 1 and Part 2, with a different passage for each part.

First, you will hear each passage read twice. Listen carefully and try to
grasp the main points of the passage. Then, after each passage, you will be
asked three multiple choice questions. Each question will be read twice.

For each question, four possible answers appear on your answer sheet,
labeled by the letters A, B, C and D. You must choose the best answer for
each question. Indicate your choice by writing the letter A, B, C or D in the

box provided for each question.



PART 1
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3t : Florence Nightingale (1820-1910)
(http://www.sciencemuseum.org.uk/broughttolife/people/florencenightingale.aspx)

Q1. According to the passage, why did Nightingale’s family oppose her taking on nursing?

A)
B)
C)
D)

Because they felt nursing was not a suitable job for highly educated women like Nightingale.
Because Nightingale did not have enough experiences to work as a nurse.

Because studying nursing was allowed only for men at that time.

Because they thought Nightingale should be a Catholic nun, not a nurse.

Q2. According to the passage, why did Nightingale clash with Sir John Hall, who was the Principal

A)
B)
C)
D)

Medical Officer?

Because Sir John Hall made doctors avoid doing amputations.

Because Sir John Hall asked doctors to use chloroform in amputations.

Because Sir John Hall demanded that chloroform should not be used in amputations.

Because Sir John Hall believed it important to improve the hygiene standards in amputations.

Q3. According to the passage, which statement is correct?

A)
B)
(0))
D)

Nightingale was born and brought up in England, and she is well known in Victorian medicine.
Thanks to Nightingale, people had no infections in the hospital environment at that time.
Nightingale established a training school for nurses in London in 1860.

Nightingale’s understanding of the source of infection was not wrong.



http://www.sciencemuseum.org.uk/broughttolife/people/florencenightingale.aspx

PART 2
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8t : Threats to Polar Bears
(http://www.nwf.org/wildlife/wildlife-library/mammals/polar-bear.aspx)

Q1. According to the passage, what is nearly the only food for polar bears?

A) Prey.

B) Whales.
C) Cubs.
D) Seals.

Q2. According to the passage, when did the second minimum extent of sea ice in mid-September occur?
A) 1In 1979.

B) In 2007.
C) In 2011.
D) In 2012.

Q3. According to the passage, which statement is NOT correct?
A) Hudson Bay polar bears can’t eat seals for months during summer.
B) Hudson Bay polar bears have a longer period to catch seals because of climate change.
C) Hudson Bay polar bears have fewer baby bears than before.
D) Hudson Bay polar bears have lost weight.



http://www.nwf.org/wildlife/wildlife-library/mammals/polar-bear.aspx

